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1.- & 19%
(1) knowledge, service, integrity - 2t 18(£ 3H)
(2) cardio, retino, oculo, encephalo, musculo(or myo) — 2t 18(£ 5H)
(3) LVDT transducer(The linear variable differential transformer) - 24
(4) a. Ag < Ag" + e
Ag* + ClI" < AgCl|

b. Provide good electrical contact with the skin

c. Reactions are reversible

d. Maintains the potential of the reference electrode at a constant value regardless of the

solution under test

e. Non-polarized surface
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Rs : solution resistance

Cq : double layer capacitance

Z; : impedance of the Faradaic process
Rei: charge transfer resistance

Zw : impedance to Mass transfer of the electroactive species
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(1) 1. Goldman equation. - 27

v, = RTy P[Klin#PNalNalin+Poi[Clout ~ —60mV logy, Pr[Klin#PNa[Nalin+Poi[Cllout

F Pr[Elout+PralMNal put+ PrilCllin Pr[Klout+Pus[MNal put+PrilCllin
L. Explain the change of membrane potential during active state. - 278
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(2) Drawing HH equivalent circuit- 48 (M=tstX| 23t 42 Z47H)
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(4) Describe equation of HH model- 473
Iy = GV — i) + Gyia (Vo — By + 224 ¢, &2 Gy = G, Gy, = Gpam®,
G
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and Gy, the voltage-time- dependent conductance)
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(1) 41, 50, 11 - 2t 28(F 67)

(2) 0.5, 200(199.04)- Zt 2H(Z 47H)
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(1) Calculate the initial value of the resonance angle (0). Draw the initial reflectance curve (x-

axis: angle of incidence, y-axis: leﬂectdm,e) be‘mle the antigen-antibody binding.
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A2 otH, angular frequencyd|

| 44, Now calculate the final value of the resonance angle and draw the new reflectance curve

overlaid with the previous drawing. Label the curves according to the numbers {1&2) in the

figure (numbers you see in the Light Detector).
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(3) When the binding occurs for the time course given in the ﬁgtﬁo?ﬁélow. what would be the

time course change of the reflectance? Draw it.
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